CSIT431 SPRING'2002 GROUP WORKSHEET 3 

(March 5th)


Names of Students:

(Submit only one worksheet for the whole group)

Q1. Look at the Barbershop program as shown on the next page and answer the following questions:

(A) How are the customers “held” in their chairs during the haircut?

(B) In the customer () function, if wait (barber_chair) is moved to immediately after signal (sofa), what kind of chaos will be created?

(C) Will the customer be able to get a haircut if wait (finished) is placed before signal (cust_ready)? Why or why not?

(D) What semaphore tries to ensure that a customer does not sit over another customer already getting a haircut?

Q2. Determine which of the following conditions are ensured in a multiprogramming and multiprocessing environment and which conditions are to be avoided? Also define each condition briefly:

(I) Mutual Exclusion

(II) Deadlock

(III) Livelock

(IV) Synchronization

(V) Starvation

(VI) Fairness

/* program barbershop1 */

semaphore max_capacity = 20;

semaphore sofa = 4;

semaphore barber_chair = 3;

semaphore coord = 3;

semaphore cust_ready = 0, finished = 0, leave_b_chair = 0, payment= 0, receipt = 0; 

void customer ()

{

wait(max_capacity);

enter_shop();

wait(sofa);

sit_on_sofa();

wait(barber_chair);

get_up_from_sofa();

signal(sofa);

sit_in_barber_chair;

signal(cust_ready);

wait(finished);

leave_barber_chair();

signal(leave_b_chair);

pay();

signal(payment);

wait(receipt);

exit_shop();

signal(max_capacity)

}

void barber()

{

while (true)

{

wait(cust_ready);

wait(coord);

cut_hair();

signal(coord);

signal(finished);

wait(leave_b_chair);

signal(barber_chair);

}

}

void cashier()

{

while (true)

{ 

wait(payment);

wait(coord);

accept_pay();

signal(coord);

signal(receipt);

}

}

